Wed. Jan. 29, 2014 MATH 340, Quiz 1 Prof. V. Panferov
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Each problem is worth 2 points. Show all your work: give brief solutions to the problems.

1. (a) In how many ways can 3 boys and 3 girls sit in a row if the boys and the girls are each to
sit together?
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(b) In how many ways if only the boys must sit together?
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2. How many different letter arrangements can be made from the letters
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Please turn over...
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3. Give a combinatorial proof of the fact
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Hint: Consider a group of n men and m women. How many groups of size r are possible?
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The end.



